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PART A: Vocabulary

Directions: Choose the word or the phrase (1), (2), (3), or (4} that best completes the blank, Then
mark the correct choice on your answer sheet.

1- I omitted all the extraneous details while explaining the ------—--- of the matter to him.
1) breach 2) distinction 3) qualm 4) gist

2-  While his brother writes in an unclear and clumsy way, Sam himsclf is known for his
---------- style of writing,

1) lucid 2) verbose 3) dull 4) [casible

3-  Poultry farms place the cggs into incubators to ---------- the growth of the embryo into
chicken,
1) congucr 2) hasten 3) outline 43 clude

4-  With as many as three witnesses giving cvidenee against her, the -———-—--— of her claim
that she was innocent was in serious doubt.
1) demonstration 2) paradigm 3) veracity 4) cmpiricism

5-  1did not like her way of teaching hecausc her lecture had too many digressions; she kept
on wandering to various subjects, most of them not ---——-——--- to the central idea of her
topic.
1) vulngrable 2) peripheral 3) pertinent 4} loyal

6-  With the advent of clectric hulhs and emergency lights, the use of gas lamps hecame
1) impreeise 2) repetitive 3) idealistic 4) obsolete

7-  The emplovee did not believe the implausible story that Janet -----—--- to justify her
abhsence from work.
1) concocled 2) serutinized 3) manipulated 4) rcassured

8-  The doctor has advised him to -——e-ae- adhere to the prescribed regimen; otherwise,
there is a danger of relapse of the illness.
1) sequentially 2) strictly 3) incplly 4) sclectively

9-  The ~—--—-- in her speech can put off almost anvone; she urgently needs to tone down
the harsh words she uses.
|) explicitness 2) enigma 3) shortsightedness  4) acerbity

10- He is so wasteful; he has ----—---- all the money that he had borrowed trom me, and is

now back again asking for more.
1) allocated 2) neglected 3) depleted 4y accumulated



PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4} best fits each
space. Then mark the correct choice on your answer sheet.

Good learners work hard. A few things may come casily to lcarners, bul most
knowledge requires clfort (11) -—-—--—-- to put in the time, They talk with others, read
more, study more and carry around when they don't understand, (12) -—--—-—-- about il
belfore they go to sleep, at the gvm, on the bus, Good learners are persistent, When
they fail. they carry on, (13) ---------- that they will figure it out eventually. (14) ------- ;
they learn from their mistakes. Good learners recognize (15) ---------- always fun. But
that does not change how much they love it.

11- 1) which is good learners willing 2) and good learners are willing

3) that good learners willing are 4y willing are good learners
12- 1) thinking 2) to think 3) they think 43 by thinking
13- 1) are confident 2) who are confident 3) thev are confident 4) confident
14- 1) Although 2) In the meantime  3) A casc in point  4) Whereas
15- 1) lcarning not be 2) that lcarning is not

3) to lcarm not to be 4) learning it is not

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3}, or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

Quantum mechanic is the scienee of the very small. Tt explains the behavior of matter
and its inleractions with cnergy on the scale ol aloms and subatomic particles. By
contrast, classical physics explains matter and energy only on a scale familiar to
human experience, including the behavior of astronomical bodies such as the Moon.
Classical physics is still used in much of modern science and technology. llowever.
towards the end of the 19th century. scientists discovered phenomena in both the large
and the small worlds that classical physics could not explain. The desire to resolve
inconsistencies between observed phenomena and classical theory led to two major
revolutions in physics that created a shift in the original scientific paradigm: the theory
of relativity and the development of quantum mechanics.

Light behaves in some aspects like particles and in other aspects like waves.
Matter—the “stuft”™ of the universe consisting of particles such as electrons and
atoms—cxhibits wavelike behavior oo, Some light sources, such as ncon lights, give
oll only certain specilic [requencies ol light, a small set of distinet pure colors
determined by neon's atomic structure. Quantum mechanics shows that light, along
with all other forms of clectromagnetic radiation, comes n discrele unitg, called
photons, and predicts its spectral energies {corresponding to pure colors). and the
intensities of its light beams. A single photon is a quantum. or smallest observable
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particle, ol the clectromagnetic ficld. A partial photon is never experimentally
obscerved. More broadly, quantum mechanics shows that many propertics of objects,
such as position, speed. and angular momentum. that appeared continuous in the
7zoomed-out view of classical mechanics, turn out te be quantized. Such properties of
elementary particles are required to take on one of a set of small. discrete allowable
values, and since the gap between these values is also small, the discontinuities are
only apparent at very tiny scales.

Many aspects of quantum mechanics are counterintuitive and can seem paradoxical
because thev describe behavior quite different from that seen at larger scales. In the
words ol quantum physicist Richard Feynman, quantum mechanics deals with "nature
as She is—absurd".

16- The author of this passage wants to —-——--—-——-
1) represent an introductory text about quanlum mechanics
2) show the various aspects of light behavior
3) compare the classical physics with quantum mechanics
4) introduce two revolutions in physics

17- The phrase “give off” in paragraph 2 can be substituted by ------------- ”
') maintain 2) generate 3) absorb 4) expand
18- It’s referred in the passage that —--—--—-—--,

1y unlike classical mechanics, quantum mechanics deals with physical nature
2) there are some contradictions between classical physics and quantum mechanics
3} a lot of features of quantum mechanics are contrary to common-sense expectation
4) quantum mechanics deals with both parts and particles simultaneously
19-  All of the following, according to quantum mechanics, are true about light EXCEPT

1) it movces in scparale unils
2) il shows ils spectral energics
3) il predicts the intensitics ol its light beams
4) it radiates a small set ol distinet photons
20- A partial photon ——---ee-eeee
1) appears to be seen in all condmom
2) can not be visualized in a tentative way
3) exhibits properties of particles rather than waves
4) is the discrete units of light

PASSAGE 2:

'The fabrication process is one of the most important steps in the application of
composite materials. Structural parts, rather than generic material form, are fabricated
with relatively simple tooling. A variety of fabrication methods suitable for various
applications are available. Structural components consisting of different materials,
such as honevcomb sandwich structures, can be manufactured in one step by the so
called cocuring process. Thus, the number of parts to be assembled and joints required
can be reduced signilicantly., On the negative side. composile labrication is still
dependent Lo some exlent on skilled hand labor with limited automation and
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21-

22-

23-

24-

25-

standardization. This requircs more stringent, exiensive, and costly quality control
procedurcs,

In the case of conventional materials, material and sttucture fabrication are two
separate processes. Structures usually necessitate complex tooling and elaborate
assembly. with multiple elements and joints.

Composites can operate in hostile environments for long periods of time. They have
long fatigue lives and are easily maintained and repaired. However, composites and
especially thermoset polvmer composites suffer from sensitivity to hyvgrothermal
envirorunents. Service-induced damage growth may be internal. requiring sophisticated
nondestructive techniques [or its detection and monitoring. Sometimes il is neeessary 10
apply protcetive coalings against crosion, surlace damage, and lightning strike.

Conventional materials, usually metals, arc susceptible to corrosion in hostile
cnvironments, Disercle Maws and cracks may be induced in service and may grow and
propagate o catastrophic failure, Although detection of these defeets may be casier,
durable repair of conventional materials is not simple.

The author’s main purpose is to ----—---------

1) give an introduction to widespread nse c-’r composites

2) overview some advantages and limitations of composite materials

3) investigate the significance and objective of composite materials science
4) emphasize the superiority of composites over the conventional materials
You can infer from the passage that cocuring process ——-------—--,

1) leads to a reduced assembly cvcle

2) depends on high-tech devices along with a few skilled workers

3) causcs the [abrication process to be done with lesser componcents

4) controls the quality of labrication proccdures

All of these issucs arce deseribed in paragraphs 3 and 4 EXCEPT -——-cememem-,
1) serviceability 2) maintainability
3) oplimization 4) durability

Which sentence, according to the passage, is NO'T true?

|) material and structural tabrications are discrete processes in the case of composites
2) the conventional materials can not be easily repaired

3) conventional metals are easily destroyved in harsh environment

4) finding defects in composites are simpler than conventional materials

The quality control procedures of composite fabrication are ---—-----—--,

1) expensive, extensive, and highly automated

2) expensive. automated, and limited

3) expensive, precise, and extensive

4) restricted, extensive with limited precision

PASSAGE 3:

A turboshaft engine is a variant of a jet engine that has been optimised to produce shaft
powcr o drive machinery instcad ol producing thrust. Turboshall cngines arc most
commonly uscd in applications that require a small, but powerlul. light weight engine,
inclusive ol helicopters and auxiliary power units.,
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26-

27-

28-

29-

A urboshall engine uses the same pringiples as a turbojet 1o produce encrgy, that
is, 1l incorporales a compressor, combustor and wurbine within the gas gencrator ol the
engine. The primary difference between the turboshaft and the turbojet is that an
additional power section, consisting of turbines and an output shaft, has been
incorporated into the design. In most cases, the power turbine is not mechanically
linked to the gas generator. 'This design, which is referred to as a "free power turbine".
allows the speed of the power turbine to be optimised for the machinery that it will
energize without the need for an additional reduction gearbox within the engine. The
power turbine extracts almost all of the energy from the exhaust stream and transmits
il via the oulput shall to the machinery it 1s intended o drive.

A lurboshall engine 1s very similar (o a turboprop and many engines are available
in both variants. The principal dilTerence between the two is that the turboprop version
must be designed o support the loads of the attached propeller whereas a turboshali
¢ngine need not be as robust as it normally drives a transmission which is structurally
supported by the vehicle and not by the engine itself.

The writer of this passage wants to ------------- g

'y compare the different forms of jet engines

2) describe a form of gas turbines

3) emphasize the most effective form of jet engines

4) provides educators with information about engines

You can infer from the passage that an additional reduction gearbox ----------—-- ;

1) can release more energy from the exhaust stream

2) allows the connection between the gas generator and the turbines to be effective
3) can optimize the speed of the power turbines

4) uses in a lurboshall engine o reduce the speed

The turboshaft engine may be made up of some major parts assemblics: —-—--nmmmmv
1) the turbines and an output shall

2) the core engine and the propeller

3) the compressor, combustion chamber and a turhine

4) the gas generator and power section

All of the following are true EXCEPT --------—-—,

1) urboshaft engine drives machinery by producing the propulsive force

2) the general lavout of a turboshaft 1s similar to that of a turboprop

3) turboprop engines usually drive a transmission structurally attached to the engine
4} helicopters usually use powerful and light-weight engines

The word “robust” in the last paragraph means ---------—--,

1) powerful 2) precise 3) stable 4) resistant
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